Dec 71/t .

Sheet ® 3" Nolume = Atnount = Brrount —> Noture. .

\ CBCD:, - Cal + CO2.
8) Ko Calla ¥ Mym_: X\_ESL.CAQ. xS .0V 0!
\43 | \\<3 CaCOs - \. 080303@3 \o\CactDz  \erol Cad
. =560. 7.883%0
b)\ VgCECO3XLQ%CfJ xmm Ao CO 2 22,0z
| - Ky 3 \mcoeeac“_acoa WwolCa0a Lol Coz
=223, Q‘\L\—\LC,OZ

2 ChaOo >2c¢HéoH+ 2C0=

a)usqacbwzohx L0l Gt O MD& x 1b.08aCan=08
180.\BgCutv200 . | mA\CeMals  VerolCaHsOH

732,21 5@2,\\5 O_\’\___ |

Q%\Sﬁmamx\ ACiaOe 1 Al lDz = SOMmMACD
120, \63(:&%\\1% \ oo\ Qo L _

,’\’: \O\- 325\ pa ™= L AN __
N7 PP J( WO\l A5 Ps .
N=5.039Mmol N_OTpRY J NV o2y gL

R=8.23M e’ 2 |
T=200.15\

- 3YNHz+ 502 —>bH20 +YNO
Q)QSG)SN\'\?,X lngzl_b\ﬂz.xﬁmu.\hz_xmﬂl.m =4z . A LD~
. 0331\\\\3 UmoltNdiz  \mol Oz

\:h:?soo N\ﬁxmx_m.&_ X Z00ED . U402 A% ND
| 5 77,0203 HeollHz - L op0I N0 3

L‘ 320+ M3 >Mo:_03 + 2200

Q_DSMOO_%X\mo\MoOs x L0001 Mo203 o 2R3 BPMi, 03 = Uo.lo\OSMon;a,
U3 9%4Mo03 2molMo0z | molMo20s |

QOSMOOSX lﬂ_}QlMoOB. XM_. xﬂLH!ﬂ%ZDO uo,qb"I%?nO
0 HASMoa 2mmoMp0z L MO\ 2n0




S.CaCat 200 > Ca + Y0 ¥ Call:
15gWCi % \prol Hen xxmm.cmx,mm.e%m =20- 5879 CaDs
BoMleahi) 2MOARC!  1mo\Calos __

15aHCA X Lo\ Rel yAoooiC0z wHYN-Qlollz = A, 051402 .
53 S\OH\::%\\C:\ 2ot ey Lmol %Oz. 3

bWzt 3C+S = N2430= + %S
503\4\\\03)( OV AN _\anL w:'. =5.5\2 LN
\O\. \Oﬁfj\L\\\Oa 2ooo\ENDz  Ymo\Nz

SDS\LmeLw_\oJ_&BQL % 3o\ 0 ¢ AALMMLLED,,. =\ b LCOL
| \0\_.\053L\~\03 20000z \mo\CO2
S.OYZ2ZLNL b el CDL= Qa-\b%l_ceﬁs

Gas volunes are additive
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Let the volune of propane be 1 L. (you could use any vol une,
but using 1 L nakes the problemeasier - this statenent shoul d

be made at the top (beginning) of the problem
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Let the volume of propane be 1 L.  (you could use any volume,
but using 1 L makes the problem easier - this statement should
be made at the top (beginning) of the problem)
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Gas volumes are additive
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